JIS A 12
JGS 04

17
11

+ D B it # A

WX A EEEE Gra®)

A% AERE R H

ABES (BY) OB OE

HB#Ne. g BB D em| ] g B wo %l
BE~ERER T M ERE A e N o
tEE®H B & Hyoem| R EREE e, glomt|
EHTOUE 6 glont| TR B om gl T s, %
BB Re % o |TIREE m, g EREB G
HWHERFw, % FEEBEX H, cm JEFREARIG S p, kKN/m?

WA EBES p |EHESAp|E % B AH|HRAES H|THERESS H|E & 0§ & | SEEHREm, |Bile=H/H,-1
BRE|  kNm? kN/m? cm cm cm Ae=AH/HX100 % m?/kN AEW f=H/H,

O
e ! [ e B
S e AU A
1 e O A A
1 vy IO
1 o
B O A A
2 v
1 L vy IO
B Y AU
..... T e R e o R
BT THEREND | t, to |EBRE ¢, |[BARIK k| —REGE AH, | — K T % M| EE %45 BARY 2
Efé% kN/m? min em?/d cm/s cm r=AH,/AH | c¢,=rc, cm?/d cm/s

1 ...........................................................................................................................................................................

2 ..............................................................................................................................................

3 ..........................................................................................................................................................................

4 ___________________________________________________________________________________________________________________________________________________________________________

5 ...........................................................................................................................................................................

6 ........................................................................................................................................................

'7 ...........................................................................................................................................................................

8 ..........................................................................................................................................................................

9 ..........................................................................................................................................................................

10— —

HEE H,=m,/(P,A) p=Ap-p’
H=H—-/AH JEE ¢, =305 X H/ tg
H=(H+H)"2 EARERE: ¢, =70.9X H t5
m,=(Ae/100)/4p  k=c,m,7,/(8.64X10°)
Spo=wo Ps/(e4Py) B'=c,/m, 7,/ (8.64X10°)

72721, 7,=9. 81kN/m?
[ 1kN/m?%0.0102 kgf/cm?]

(th) AT ¥ % 4635 AFRFHH

760131HT—1





